Haryana Staff Selection Commission
Morning Session, 13.04.2018

Post:- JE

Characteristics load means that value of load which has a % probability of not being
exceeded during the life of structure.
(1) 5 (2) 20
(3) 95 (4) 99
ATEITOThdT R & ATy HR & 39 Al F § fSTehT T T HIemarsy H ST I THGAT

% & 3 T gIelr |
(1) 5 (2) 20
(3) 95 (4) 99

The maximum compression strain in concrete in axial compression is taken as

(1) 0.002 2) 05
(3)  0.005 (4) 02
el gdiiset & shshie 7 rfRhdd TS fapic fhde off ST g 2
(1) 0.002 (2) 05
(3) 0.005 (4) 0.2

For continuous beams, the distance between two points of zero moments in the beam may be
assumed as

(1) 0.5 times the effective span (2) 0.7 times the effective span
(3)  0.25 times the effective span (4) 0.9 times the effective span
Heicl AT & forw, e 31 e YT o ar fag3il & dre & gli 1 1At fohar Siar §
(1) ol faEqfar & 0.5 I (2) s faEqgfad @ 0.7 I

(3) e fawqfa & 0.25 I (4) el fawgfar & 0.9 [T
The maximum area of tension reinforcement shall not exceed

(1) 0.5bD (2) 0.04bD

(3) 0.05bD (4) 0.09bD

ToITa Yol o7 3TThd# &1 ohad 3T 18T glar aIfe T ?

(1) 0.5bD (2) 0.04bD

(3) 0.05bD (4) 0.09bD

For bars in compression, the values of bond stress for bars in tension shall be increased by

(1) 10% (2) 15%
(3) 20% (4)  25%
i<t arel GRAT & foT TeIra arer IRET & forw 3meer ufase 1 A fohdar ger giem ?
(1) 10% 2) 15%

(3) 20% 4) 25%
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1 centipoise = poise.

(1) 1/10 (2) 1/100
(3) 1/50 (4) 1/25
1 @S = qrgst

(1) 1/10 (2) 1/100
(3) 1/50 (4) 1/25

The viscosity of water at 20°C is

(1) 0.05 poise (2) 0.1 poise

(3) 0.01 poise (4) 0.1 centipoise
20 °C R Tl &I 2ATAT fohcdail BT & 2

(1)  0.05 9fger (2) o0.1dlsa

(3) 0.01d9fser (4) 0.1 T
1 bar = N/m?2.

(1) 102 (2) 10°

(3) 10* (4) 10°

191 = N/m?2

(1) 10° (2) 10°

(3) 10 (4) 10°

The pressure or intensity of pressure at a point in a static fluid is equal in all directions states by

(1) Pascal’s Law (2) Newton’s Law

(3) Euler’s Law (4) Reynold’s Law

EUX g & fonely foig oX arer a1 a1e &t cliare foh foraret & 31T wefl ferenait & veh Jame gl & 2
(1) dieed @Td (2) e o

3) IR faw#H (4) tes faTw

The pressure which is measured with reference to absolute vacuum pressure is
(1) gauge pressure (2) absolute pressure

(3) atmospheric pressure (4)  absolute zero pressure
JE S1d Shio AT ¢ Tord [ARUeT faTd 1 o TeaT AT ST & 2

(1) IFe (2) fRUeTEE

(3) argHSCae (4) fRUET I

If velocity potential exists, the flow should be

(1)  rotational (2) laminar

(3) turbulent (4) irrotational

afe a1 faera Aispe g1, ot warg g

(1) goff (2) T=

(3) fasgew (4) 3ol

A grid obtained by drawing a series of equipotential lines and stream lines is called a

2
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(1) stream line (2) flow net

(3) velocity potential (4)  equipotential line
TATAsT @3 3R GRT @13 T 3t & Wieehy wree s &4 swgellr g ?
(1) erTYEr (2) Yarg Siret

(3) aurfasa (4) wAfGHT Y@r

Archaeological Survey is used for

(1)  exploring mineral wealth

(2) determining points of strategic importance
(3) unearthing relics of antiquity

(4) determination of quantities

QRTclied HI&TOT T 3TN vy FoIw femam Siretr & 2
(1)  Gfest @Yl & 3fayor & fae

(2) TS FAgca & TUT AYUTRT et & forw
(3) TRTGRANT T Wistel o fow
(4) A= F FAuReT & o

For topographic survey of building sites, the scale used is

(1) 1cm=10mor less (2) 10cm=1morless
(3) 1cm=100m or less (4) 1m=100morless
$TeeT Tl & TACATRIc HI&TOT o TorT, forer YaTey b1 SUilar fohar ST & 2

(1) 1cm=10m3ATHA (2) 10cm=1m3ar=sA
(3) 1cm=100m AT KA (4) 1m=100 m3ar=mA

are used for linear measurements of a very high degree of precision.

(1) Cloth tape (2)  Metallic tape

(3) Steel tape (4) Invartape

e TRk ST T AT & A&k AT & forw T 39T fRAT ST § |
(1) s T Hrar (2)  org & T

(3) EE&T T BT (4) SeAR BIar

are required for measuring the length of a line which is greater than a chain length.

(1) One chainmen (2)  Three chainmen

(3) Two chainmen (4)  Four chainmen

Ry aTseT , St SR oS & 31T Bl § & ofeTs & A & v TITHRAT BT & |
(1) U SHE ders (2) T e

(3) arsKedEs (4) AR ST dES

The weight per metre of 22 mm diameter bar is

(1) 1.58kg (2) 2.98kg

(3) 2.47kg (4) 3.85kg

22 mm 1" IRT F1 9fd HeX AR fhaar giarg ?

(1) 1.58kg (2) 2.98kg
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(3) 2.47kg (4) 3.85kg

In absence of detailed design the percentage for steel concrete for columns may be taken

approximately

(1) 07%to1% (2) 1%to2%

(3) 1%to5% (4) 05%t00.8%

TaEc TSSITS & 37877 & hicTH o ToIT TTeT shshie ol FTcTRIeT STITSTT feheiall TorT STelr & 2
(1) 07%H1%dH 2) 1%F2%dH

(3) 1%d5%dh (4) 05%T0.8%dH

The loss of water caused by the leaves of the growing vegetation is

(1) transpiration (2)  evaporation
(3) percolation (4)  surface runoff
Secll geTeaid & gl @ glel aTell UTeil b ehdleT FAT hgelldll & ?

(1)  arsdicHst (2)  arsdeRoT

(3) Raa (4) g 39ATE

The term used to indicate the water which is not chemically pure is called

(1) wholesome water (2)  impure water
(3) domestic water (4)  All of these
3 9Tl & T fondr eree; o1 SEAATST foham STl & St TRl &9 & ety 181 ¢ 2
(1) FarEege gret (2)  3FYey I
(3) EI'lT:[QF?T (4) gl

The permissible turbidity for drinking water is

(1) 2to5p.p.m. (2) 5to15p.p.m.
(3) 5to10p.p.m. (4) 2to10p.p.m.
U STl & TV 3HeTH T el fovcel g 2

(1) 2#&5p.p.m. (2) 5#15p.p.m.
(3) 5% 10p.p.m. (4) 2¥10p.p.m.
The turbidity in water is due to

(1) clay and silt particles (2)  fungi

(3) algae (4)  organic soils
aTelr & 3nfyerar 1 FRUT FAT AT ¥ 2

(1) A g ame & Hor (2) ok

(3) arer (4) G\ﬁE'ﬂt_aT

The most common cause of acidity in water is
(1) Oxygen (2)  Nitrogen



24,

25.

26.

27.

28.

(3) Carbon dioxide (4)

UTeil 3 375eTdT T AT 31TH HRUT hisT AT ?
(1) e (2)
(3) I ST3-3iTFaTSS (4)

The rate of filtration for a slow sand filter varies from

Hydrogen

CIEMEC
gISgrotel

of filter surface area.

(1) 1to5m3perday per m? (2) 5to 10 m? per day per m?
(3) 1to 10 m?3 per day per m? (4)  10to 15 m3 per day per m?
Y YT fheex & faT fAwicsT e¥ Rheet adg e & gRafda gt g |
(1) 1&5miufa e ufa m? (2) 5¥10 mdufa feea ufa m?
(3) 1& 10 m?ufy e ufar m? (4) 10 @ 15 m3ufa gt wfa m?
Each circle represents

(1) anetwork (2) anevent

(3) anactivity (4) critical path

Y g a1 qeffar § 2

(1) «cas (2) e

(3) wrfafafer (4)  wifaw oo

The activity with minimum should be crashed first.

(1) costslope (2)  normal cost

(3) crash cost (4) normaltime

FATH & TTY AT T TEX Ugel €aTd gielr TIRT |

(1)  @meTd arer (2) ST TP

(3)  sherdmeTd (4) AT GHT

PERT is an

(1)  activity-oriented technique (2)  event-oriented technique
(3) network-oriented technique (4)  All of these

PERT T g ?

(1) sfafafer seaer deeien (2)  EE 3-HE deheilsh

(3) wicash 3-HE dehelteh (4) @i

The example for continuous flow type equipments is

(1)  Shovels (2)  Draglines

(3) Concrete Mixers (4) Belt Conveyors

T JaTg bR & YOI T 3GT0T &

(1) o (2) geTemE

(3) hshre AFEX (4) Soc FAdAX
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materials are capable of absorbing large amount of energy prior to fracture.
(1)  Elastic (2)  Plastic

(3) Ductile (4)  Brittle

arelt 3% et F O T AT 7 Foft HTNTOT e Y A AN |
(1) va&y (2) venfEes
3) d=x (4) R

o]

The loads which tend to increase the length of the body is called

(1) Tensile loads (2)  Shearing loads
(3) Bending loads (4) Torsional loads
forelt frerar 1 J1eTs JoTe AT IR AT T & 2

(1) T HR (2) IUEI AR

(3) T HTHR (4) Uod dR

The ratio of decrease in length to original length is

(1) tensile strain (2) compressive strain
(3) shear strain (4)  volumetric strain
Hel e § T olaTS & 3IuT T FAT Hgcl & 2
(1) et faspfa (2) w7 fagfa
(3) 3w Rl (4)  smrafe R
Poisson’s ratio is the ratio of lateral strain to
(1)  modulus of rigidity (2)  modulus of elasticity
(3) longitudinal strain (4)  bulk modulus
CATHT 3efaret qIfRde fashfy & fehaent 3reqar & 2
(1) Tedr ArdTh (2) YA AR
(3)  3egeed faspfa (4) 3T AU
The trimmed size 297 mm x 420 mm is of _____ size of drawing sheets.
(1) A (2 As
(3) A4 (4)  As

3R FI ST et T e PR 297 mm x 420 mm BT g |
(1) A (2) A
3) A4 4)  As

Placing of rooms adjacent to each other to their relative utility is called

(1) circulation (2)  orientation

(3) privacy (4) grouping
wﬁaﬁrmamﬁmaﬁauﬁgcwqmé?wmww%?
(1)  FeRor (2)  IeAdE

(3) fosmar (4) wge

a
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The width and height of a structure is shown in

(1) plan (2)  elevation
(3) section (4) None of these
forelt Tae dr aters 3R Fars forae gafg S g 2
(1)  ©elTeT (sTerRm) (2)  eeIarer
(3) s (4) T8 A FIS A
The area covered by the building immediately above the plinth level is called
(1)  Built-up area (2)  Floor area
(3) Set backs (4)  Floor area ratio
ey TR @ 8 I 99T GaRT Fax 81T FIT FHgalldl & ?
(1) fee-3meas (2) wTaT
(3) @cdF (4) e & AH T
Which tool is used for cutting bricks accurately ?
(1) Bolster (2)  Trowel
(3) Brick Hammer (4) Rammer
3t 1 TIF FHers & v fovg Arera &1 seaaATe foham ST & 2
(1) MY uekesr (2) Hr
(3) Scgdls (4) S

is the portion of the brick cut across the width.
(1) Bat (2) Lap
(3) Stretcher (4) Header
3T T RE F FIeTSC FT AT &
(1) de (2) @9
(38) TR (4) &N
Which type of mortar is used for temporary buildings in brick masonry ?
(1) Cement mortar (2) Cementlime mortar
(3) Cement Surkhi mortar (4) Mud mortar
3¢ IS  3TTATS AT o [T fohd g o AGTel T AT fhaT SATAT § 2
(1) EFec FATT (2) HHATe AT FETT
(3) HrAwe gl Faren (4)  9RT AGTCT

Give the full form of RBLC.

(1)  Reinforced Brick Lime Concrete (2)  Reinforced Brick Lime Cement
(3) Reinforced Brick Light Concrete (4)  Reinforced Brick Light Cement
RBLC &7 QT #ATH AT § ?

(1) vafad $e a1 ehre (2) vefod g g @Aee

(3) wsfad ge gordh Fshre (4) vsfad sc gadhr T

Fire bricks are made from



(1) fireclay (2)  quicklime
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(3) hydrate lime (4) cement

HIag 3¢ fhaeht Sell gl g 2

(1) 3ifrae A (2) TS g3 g

(3)  STerAfSId e (4) AT

The rock contains several minerals is known as

(1) Polymer rock (2)  Polymineralic rock

(3) Monomineralic rock (4) Homomineralic rock

FS WieTSil aTell TCTTeT FAT HgalTl & 2

(1)  Sger TcerT (2) sgEfrsT gee

(3) uwElAS T (4) GHEAS g

Give the full form of CRRI.

(1)  Central Road Research Institute (2)  Central Research Road Institute
(3) Central Railway Research Institute (4)  Central Research Railway Institute
CRRI &T QT ATH &AT § ?

(1) S=arT gsoh eTHET TEATA (2) G FTHTT HSh HEAUTA
(3)  heard Yeld IeTHHT TEATH (4) PG FTHTT ToTd HEATT
Which situation is not considered in the design of sight distance ?

(1) Head light sight distance (2)  Stopping sight distance

(3) Intermediate sight distance (4) Eye level sight distance

&<l gt & TSsTrgeT # fohey FeufeY o) fara =78 foharm STrem & 2

(1) gsomscadgl (2) fRErETgy

(3) FEIAArET Y (4) IEEREITY

As per IRC limiting gradient of mountainous terrain is

(1) 7% (2) 5%

(3) 6% (4) 9%

IRC & 3[R, YgTST &7 T HieATecl JoTelm giell &

(1) 7% (2) 5%

(3) 6% (4) 9%

Give the full form of PSC.

(1)  Prestressed Concrete (2)  Pre-setting Concrete
(3) Pre-setting Cement (4)  All of these

PSC T 9T TH T & ?

(1) evafed e (2) qd-swa de

(3) qﬁ—awra dAec (4) Jgelr
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Concrete is generally graded according to its

(1) Tensile Strength (2)  Shear Strength
(3) Compressive Strength (4)  Flexural Strength
FHAIR R FhCHI AT 3TN FH AT |

(1)  TeAeT &THar (2)  3IEYOT &THAT
(3) HWsH &THaT (4)  TAHT &TFAT

As per Indian Standards, temperature for cold weather concreting is

(1) below2°C (2) 10°C

(3) below5°C (4) 8°C

HRA HAeTehl & AR, AT HGH FHshre & FIT ATaaTe fohdar g g ?
(1) 2°ca=saA (2) 10°C

(3) s5°camA (4) 8°C

A particle size distribution curve gives an idea about

(1) type of soil (2)  type of aggregates
(3) size of aggregates (4) density of soil
Teh 0T AR [T Ioh fohdeh I & JdTdT 8 ?

(1) HT & IFR 2) WrFy$R
(3) A& 3R (4) HaT & Uelcd

The chemical reaction that occurs when cement is mixed with water is known as

(1) Hydration (2)  Segregation

(3) Bleeding (4)  Slaking

g T gfaferar a1 gty § St didec & 91 J R Walkarg ?
(1) SterrseT (2) EY¥HeT

(3) waur (4) g

S

Who constructed the famous ‘Sarveshwar Mahadeo Temple’ at Kurukshetra ?

(1) J.K.Birla (2) Baba Tarak Nath
(3) Baba Sarwan Nath (4)  Baba Shivgiri
eI H YA ‘FdeaR Hgled Afee’ 1 AT fhget shiaram 2

(1) . feger (2) oTET dRE T
(3) TS AEuT AT (4) arer REfafik

The average annual rainfall of the State Haryana is about

(1) 60-80cm (2) 80-100 cm
(3) 5-20cm (4) 40-60cm
RO T & 3ittad arfSe aut eeTsTeT &
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(1) 60-80cm (2) 80-100cm
(3) 5-20cm (4) 40-60cm

All of the following are related with Boxing, except :

(1) Vijender Singh (2)  Manoj Kumar
(3) Mahesh Rawat (4)  Vikas Yadav
foroeT 31 & weft sgarhamont & Hay Tad &,

(1) Taoles e (2) FeAST FAR
(3) HeUIEd (4) Tra Ica
The war between Marathas and Ahmad Shah Abdali took place in
(1)  Bhiwani (2)  Panipat

(3) Rewari (4) Karnal
FTST T IEHCRTE HecTell & g ey fohdy TUTT IX §31T 2

(1) fae 2) uelua

(3) Xa@mEr (4) =TS

Choose the correct pair :

(1)  Surendra Sharma — Writer

(2)  Tulsi Das Sharma — Urdu Poet

(3) Ayodhya Pd. Goyalea — Urdu Poet
(4) Santosh Yadav-Novelist

TEY JIH HT TIA HIFAT :

(1) Gleg aHAT - oIEh

(2) Jordier AT - 3¢ Hid

(3)  3rdredr yHTE MATerT - 3¢ T
(4) TAY IET-3UIATHRR

Gopal-Mochan fair is held in the district of

(1) Ambala (2)  Panipat
(3)  Kurukshetra (4) Faridabad
YT -ATdeT Hell ford fSTer Fgiar g ?

(1)  3fsmem (2) uelud
(3) & (4) weEE
Rao Tula Ram was born in which district of Haryana ?

(1) Rewari (2) Mahendragarh
(3) Jhajjar (4)  Bhiwani
T JARTH T ST~ gIRAT0M & foha forer 7 g3m ar 2

(1) e (2) T
(3) Fool (4) fHaEr

10
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In which year, ‘Dr. Ambedkar Medhavi Chhatra Sansodhit Yojana’ was introduced in Haryana

State ?

(1) 2003-04 (2)  2004-05

(3) 2005-06 (4)  2008-09
RO ToT H fohg av ‘31, s ALTdT STF TN Jietar 3IRET 61 978 2
(1) ¥ 2003-04 (2) @Y 2004-05
(3) d¥2005-06 (4) @Y 2008-09
How many total number of seats are there in Haryana’s Assembly ?
(1) 75 (2) 80

(3) 85 (4) 90

gRATOT farret T8 & el fohcialt €IC & 2

(1) 75 (2) 80

3) 85 (4) 90

Which of the following was not Chief Minister of Haryana ?

(1) Sh.B.D. Gupta (2)  Sh.B.D.Sharma

(3)  Sh. Hukam Singh (4)  Sh. Chandra Shekhar
foeT & @ sler gRAToT 1 FET HAY AL AT 2

(1) A& e () Ay e

(3) N gHA e (4) #rdgAwR

Which of the following newspapers was published by Pt. Nekiram Sharma ?
(1) Sanwahak (2) Sandesh

(3) Niwaran (4) Wani

GfSd AhRTHA AT PieT AT TATAR-IF THITAT I & ?

(1) Hagsh (2) &g

(3) foaaror (4)  aroft

First Advocate-General of Haryana was

(1) Anand Swaroop (2)  Babu Ramsharan

(3) Babu Bhagwat (4)  None of these
RO & g FAgIfaeEar o ;

(1) 3ol Fa& g (2)  STEIERA

(3) Tq HETEA (4) SAH A IS TG

Shri Om Prakash Chautala served as Chief Minister of Haryana for

(1) Single Time (2)  Three Times

(3) Twice (4) More than three Times
A1 30 FehTer <eTell & §RATUN & HET Heat o &9 H R fovar

(1) THIR (2) dFsR

(3) @arsR (4) dTEIVFIR

Who was the last Hindu ruler of the Delhi kingdom ?

11



(1)  Harshvardhan (2) Hemchandra

(3) Rao Tularam (4)  Mohan Singh
el &1 ey W 3= aren 3ifeaa R emash i 4T ?

(1) g¥aiy (2) @IS

(3) I R (4) Hga e
Which is the State Bird of Haryana ?

(1) Hawk (2)  Pigeon

(3) Black Francolin (4)  Peacock
g &1 ek gefr plT @ g ?

(1) = (2) IR

(3) ST AR (4) @R

Pt. Jasraj, the classical musician, was born in

(1) Ambala (2)  Vrindavan

(3) Kashi (4)  Hisar

9. STERTST, AT HINA T ST+ el §31T 2

(1)  3fererm (2) geerad

(3) el (4 fEwR

Which of the following is constructed by Tomar King in Haryana ?

(1)  Surajkund (2)  Shohnakund
(3)  Shah Jahan Ki Baoli (4)  None of these
ERATOT H AR ST EGaRT [Heelild # § T Sefdra arm ?

(1) aFs (2) drergs

(3) uTESTEl I SrasT (4) SIH G FIg AT
Pandit Jasraj is famous in the field of ?

(1) Classical Music (2)  Folk Songs

(3) Folk Dance (4)  Poetry

qTosd SIS ford faer & forv fawara g 2

(1) g Efa (2) oFHAT

(3) NPT (4) Ffaca
Akashwani Rohtak was started on

(1)  8™"March, 1972 (2) 8™"May, 1976
(3) 1**November, 1966 (4) 1%*November, 1975
3MeRTRIaToft Vgdeh HI TATTAT el g‘s" o 2

(1) 8&Am, 1972 (2) 8#s, 1976
(3) 1aAdFeN, 1966 (4) 1d9FsT, 1975

52" Haryana Day was dedicated to
(1)  Sir Chhotu Ram (2) Water Conservation
(3) BetiBachao (4)  Agriculture

12
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52at gRamor feaw gafda ar

(1) WA (2)  SToT E&TOT &I

(3) s (4) FRF

Length of Kundali - Manesar - Palwal Express - way approximately.

(1) 140 km (2) 135km

(3) 125km (4) 150 km

STl -HTATT -Told ol T -d T oTFaTS § SITeTIT

(1) 140 et (2) 135 fowat

(3) 125 fraly (4) 150 ferey

'Saint Guru Ravidas Sahayata Yojana' is started by Govt. of Haryana for
(1) Small artisans (2)  Cottage industry
(3) Painters (4)  None of these
gRATOT AIHR GaRT TR T 378 Al 7% (AT FTIT ArofalT fehdreh T & 2
(1) R FEeR & faw (2) FERIEATH AT
3) FREeRiF T (4) TAF A HIg G

All of the following are wrestlers of Haryana, except

(1) Jagdish Singh (2)  Anil Kumar

(3) Ramesh Kumar (4)  Sushil Kumar
efaf@a gsft eRamon & ggea &, e

(1) s fie (2) T FAR

(3) TAUFAR (4) gdTFAR

Recently Manu Bhakar of Haryana won gold medal in ISSF World Cup in

(1) Shooting (2)  Wrestling
(3) Boxing (4)  Hockey
gRATUT T He] HTT o §Tel &1 7 ISSF dos Y # Faol ugeh Sidr
(1) et & (2) FA
(3)  FFHaTS A (4) g

37 sports-persons of Haryana are participating in 2018 Common Wealth Games at Gold Coast,
which is scheduled from

(1) 2-16 April (2) 6-16 April

(3) 4-15 April (4)  None of these

gRIATOT & 37 TAGIET 2018 ISCHSH Well H INes PIEC H GEAT A e, A b al W o
(1) 2-16 3% (2) 6-16 3%

(3)  4-15 3% (4) 3o @ HIS AL

Arrange the following events in the chronological order
l. Police action in Hyderabad

13
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Il. Indian Independence Act
Il. People of Yemen formed Liberation army
IV.  Hyderabad state merged in Andhra Pradesh

(1) LV (2) v, 0L,
(3) I, L1V 4) v, L
Al a3 1 FreleIsh A i H Taedd X :

. gevEE 7 gfom FRars

Il R T Jifafas

.  JHA & A o foraRreT THT &7 6T fohaT |

IV. gelIeIg Isd 3 9T H fae

(1) L,V (2) v,
(3) L1,V (4) v, 1,0,

From which longitude the Indian Standard Time is calculated ?
(1) 82°30' East longitude

(2)  35°30' East longitude

(3) 82° West longitude

(4) 82°30' North longitude

R g2aR & SR AT TAT T IT0TAT T AT & 2

(1)  82°30' 4d &M’ (2)  35°30' g GAH
(3)  82° ufdas eraR (4)  82°30' 3T &R
M.S. Dhoni was the captain of the Indian Test cricket team.
(1) 31 (2) 45

(3) 39* (4) 41+

TH. TF. &l AR ¢Fe fhohe A & FHede o |

(1) 319 (2) 459

(3) 399 (4) 419

Who has the ultimate power to protect the fundamental rights of the citizens ?

(1) Parliament (2)  President of India
(3) Supreme Court (4)  Prime Minister
SATTIeT o FHeTT ITTPRT chl T&TT &t sh1 i TTH | fehfieh ITE & 2

(1) w8g (2) R & Tgafa
(3) wafwa =g (4)  gETTEAT

AKM, DNP, GQS, , MWY.

Fill in the blank.

(1) HQU (2) FRW

(3) JIv (4) Hav

AKM, DNP,GQS,  , MWY

Reerel TTeT T gfct HITSTT |

(1) HaQu (2) FRW
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(3) TV (4)  Hav

9,18,X,72,144, 288, then X =?

(1) 36 (2) 32
(3) 33 (4) 34
9,18, X,72, 144,288, A X =?

(1) 36 2) 32
(3) 33 (4) 34

Arrange the given words in the meaningful sequence.
1. Birth 2. Marriage 3. Funeral 4. Death 5. Education

(1) 25431 (2) 15243
(3) 13425 (4) 15234
fAe=ATer e ereet st 31AquT shet & oSy :

1. STe 2. 1Y 3. 3iH FEhR 4. Fog 5. Ram

(1) 25431 (2) 15243
(3) 13425 (4) 15234
TENALP : HCFDQB :: TUNAEP : ??

(1) HGFDCB (2) HDQFCB
(3)  FDQHCH (4) HFBDCB
TENALP : HCFDQB :: TUNAEP : ??

(1) HGFDCB (2) HDQFCB
(3)  FDQHCH (4) HFBDCB

The LCM of two numbers is 495 and their HCF is 5. If the sum of the numbers is 100, then their
difference is

(1) 46 (2) 70

(3) 10 (4) 90

& HEITHT &1 LCM 495 § 3R HCF 5 & | Ife §&A131 a1 19T 100 §, AT 3eTehl 3 &
(1) 46 (2) 70

(3) 10 (4) 90

The average of 7 consecutive numbers is 20. The largest of these number is
(1) 20 (2) 22

(3) 23 (4) 24

AT HHATITT FE&IT3T T 3TT 20 § | 54 T 937 HEAT &

(1) 20 (2) 22

(3) 23 (4) 24

A can complete a certain job in 12 days. If B is 60% more efficient than A, then the time taken by
B alone to complete the same job is

(1)  Eight and half days (2)  Eight days

(3) Seven days (4)  Seven and half days

A T T Y 12 feoT H QT T HehaTT & | IS B, A T 60% SATET HIFETH 8, oiT B 3T H1aT hl 1
Xt & foIT fohdar goFd oemm ?

(1) ¢ 3ms et (2) 3l
15



87.

88.

89.

90.

91.

92.

93.

(3) wafes (4) @ ard et

If the side of rhombus is 20 cm and one of its diagonals is 24 cm, then its area is

(1) 384sg.cm (2) 348sg.cm

(3) 386sg.cm (4) None of these

I FHEEST T 8 20 Aol § 3R g8k faerull & & Ueh 24 Jt & oY g&hT &Tthel &
(1) 384T (2) 348 T EAT

(3) 386 T A (4) AT S AGT

Acids react with bases to form salt and water. This reaction is known as

(1) Combination (2)  Neutralisation

(3) Reduction (4) Decomposition

37, &R & A1y fAfRAr e aqor iR arelt SATar § | 39 3ifAfhar ar dgad g
(1) FAST (2) 3crdisiRToT

(3) 3UTIA (4) fagest

A potted plant kept in a room tends to bend towards the direction of light. This movement is
called

(1) Photographism (2)  Photonastism
(3) Photoperiodism (4)  Phototropism
Teh S H QT 3T ITFS A T3 T Fehrer B R & {31 ¥ | 59 17y Y gl &
(1) C])lElIIIEi) oH (2) ‘:ﬁafﬂii oH
(3) weRRRes (4)  weRReH
The Sl unit of Potential difference is

(1) ampere (2) volt

(3) watt (4) joule
FaR FrsisHs g

(1) R (2) drec

(3) dfe (4) @

Fill in the blank using the correct preposition.

We are sitting the tree.

(1) over (2)  under

(3) inside (4) above

Select the correct verb form.

The doctor advised me to stop

(1) smoker (2) smoke
(3) smoking (4)  smoked

Fill in the blank with correct article.
Japan is known as land of rising sun.
(1) a (2) an
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94.

95.

96.

97.

98.

99.

100.

(3) the (4) noarticle

Give one word substitute for the following expression.
is an examination of tissue removed from a living body to discover the presence,
cause or extent of a disease.
(1) Axiom (2)  Allegory
(3) Biopsy (4) Ephemeral

Select the word from the following that is opposite in meaning to the word in capital letters.
MINIATURE

(1) puny (2) titanic
(3) limited (4) little

foe=T 3 & FieT AT TATH gded TATH FI 3ETEX0T ¢ ?

(1)  3meRor (2) e[

(3) @BR-Shd (4) FHATTT

37207 Qe T AT e § -

(1) &, e (2) TRl §3, ey
3) ey, 3 (4) I, 7=

AT RT I WTaFT & ?

(1) Sl Wer @ 3R ol I 1T |

(2) 379 IR AT SHAT el H TUH 37T |
(3) 9 Wl Eiga & [T aTa 3737 |

(4) o9 3 foEd SR AR aT$ |

fereT ceaTT gTa ot e HA Y -
(1) %CT 3a%cy g (2) R
(3) AT (4) ds9 336

TorE ST 78T ST Ho' aTeraiel & foIT Uk e & -
(1) faom (2) 3
(3) 3= (4) 39
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